

Name Nwaiwu Sylvester Chukwuka .u  
 Mechatronics  
 19/ENG05/042  
 Maths 104

Ques 20. Find the integral of the following

$$\int \frac{2x-1}{(x-1)(x-2)(x-3)} dx = \frac{A}{x-1} + \frac{B}{x-2} + \frac{C}{x-3}$$

$$= \frac{A(x-2)(x-3) + B(x-1)(x-3) + C(x-1)(x-2)}{(x-1)(x-2)(x-3)}$$

$$\therefore 2x-1 = Ax^2 - 5Ax + 6A + Bx^2 - 4Bx + 3B + Cx^2 - 3Cx + 2C$$

$$2x-1 = x^2(A+B+C) + x(-5A-4B-3C) + 6A+3B+2C$$

$$A+B+C = 0$$

$$-5A-4B-3C = 2$$

$$6A+3B+2C = -1$$

$$D = \begin{vmatrix} 1 & 1 & 1 \\ -5 & -4 & -3 \\ 6 & 3 & 2 \end{vmatrix} = \begin{vmatrix} 0 & 3 \\ 3 & -1 \end{vmatrix}$$

Using determinants and co-factors, we have

$$\text{horizontal determinant} = 1(-2+9) - 1(-10+18) + 1(24) = 1-8+9 = 2$$

To find A substitute RHS in A column

$$D_A = \begin{vmatrix} 0 & 1 & 1 \\ 3 & -4 & -3 \\ -1 & 3 & 2 \end{vmatrix} = 0(-8+9) - 1(6-3) + 1(9-4)$$

$$= 0 - 3 + 5 = 2$$

$$\therefore A = \frac{D_A}{D} = \frac{2}{2} = 1$$

$$D_B = \begin{vmatrix} 1 & 0 & 1 \\ -5 & 3 & -3 \\ 6 & -1 & 2 \end{vmatrix} = 1(6-3) - 0(-10+18) + 1(5-18)$$

$$= 3-13 = -10 \therefore B = \frac{D_B}{D} = \frac{-10}{2} = -5$$

$$D_C = \begin{vmatrix} 1 & 1 & 0 \\ -5 & -4 & 3 \\ 6 & 3 & -1 \end{vmatrix} = 1(4-9) - 1(5-18) + 1(-15+18)$$

$$= -5 + 13 + 3 = 11$$

$$C = \frac{D_C}{D} = \frac{11}{2}$$

$$= \int \frac{1}{x-1} - \frac{5}{x-2} + \frac{11}{x-3} dx$$

$$= \ln|x-1| - 5 \ln|x-2| + 11 \ln|x-3| + C$$

Name Nwaiwu Sylvester Chukwuka .u  
 Mechatronics  
 19/ENG05/042  
 Maths 104

$$2) \int \frac{(x^3 + x + 1)}{(x+2)(x^2+1)} dx$$

$$\int \frac{(x^3 + x + 1)}{(x+2)(x^2+1)} dx = \frac{A}{x+2} + \frac{Bx+C}{(x^2+1)}$$

$$= \frac{A(x^2+1) + (Bx+C)(x+2)}{(x+2)(x^2+1)}$$

$$x^3 + x + 1 = Ax^2 + A + Bx^2 + 2Bx + Cx + 2C$$

$$= Ax^2 + A + Bx^2 + 2Bx + Cx + 2C$$

$$= (A+B)x^2 + (2B+C)x + (A+2C)$$

$$(-2)^2 - 2 + 1 = +3A \quad \therefore 3 = 5A \quad \therefore A = \frac{3}{5}$$

$$At x^2 = -1 = x = -1 = \frac{2x+1}{5}$$

$$B = 2, C = 1$$

$$= \int \left( \frac{3}{5(x+2)} + \frac{2x+1}{5(x^2+1)} \right) dx$$

$$= \int \frac{3}{5(x+2)} + \frac{2x}{5(x^2+1)} + \frac{1}{5(x^2+1)} dx$$

$$= \frac{3 \ln|x+2|}{5} + \frac{\ln|x^2+1|}{5} + \frac{\arctan x}{5} + C$$

$$3) \int \frac{x^2+1}{(x-3)(x-2)^2} dx = \frac{A}{x-3} + \frac{B}{x-2} + \frac{C}{(x-2)^2}$$

$$x^2 + 1 = A(x-2)(x-2) + B(x-3)(x-2) + C(x-2)$$

$$A = 10, B = -9, C = -5$$

$$= \int \frac{10}{x-3} - \frac{9}{x-2} - \frac{5}{(x-2)^2} dx$$

$$= 10 \ln|x-3| - 9 \ln|x-2| + \frac{5}{x-2} + C$$

$$4) \int \frac{(x^3 + x^2 + 2x + 1)}{x-1} dx$$

Substitute  $u = x-1 \quad \therefore \frac{du}{dx} = 1 \quad dx = du$

$$x = u+1 \quad x^2 = (u+1)^2 \quad x^3 = (u+1)^3$$

$$= \int \frac{(u+1)^3 + (u+1)^2 + 2(u+1) + 1}{u} du$$

Perform Polynomial long division

$$\int \left( x^2 + 2x + \frac{4}{x-1} + 3 \right) dx$$

$$= \frac{x^3}{3} + \frac{2x^2}{2} + 4 \ln|x-1| + 3x + C$$

$$= \frac{x^3}{3} + x^2 + 4 \ln|x-1| + 3x + C$$